MATH 103 – SUMMARY

Straight Line:


Standard Form:
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Slope-Intercept Form:
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Slope: 
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Properties of Exponents:

	1. 
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Multiplication and Factoring of Polynomials:

1) 
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7) Factor and Solve: 
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a. Find factor of ac that combine to b (Master Product Method)

b. Rewrite using ac factors for bx

c. Factor by grouping and complete.

8) Factor using Greatest Common Factor (GCF)

9) Factor by Grouping – 4 or more even terms

Radicals:

1) 
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Simplified form for radical expressions:

1) No perfect powers under radical symbol.
2) No radicals in the denominator.
3) No fractions under the radical sign.

Addition and Subtraction of Radical Expressions:

Similar radicals – same index and same radicand
Multiplication and Division:
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same index


Remember  
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Solving Equations:

1) Rational equations – Clear the equation of fractions by multiplying both sides of  equation by LCD.

2) Equations with Radicals

a. Isolate the radical

b. Square both sides

c. Solve

d. Check solution in original equation

3) Quadratic Equations

a. Set in Standard Form  
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b. Try to factor and solve

c. Use quadratic formula after selecting a, b, c from Standard Form.
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  and simplify

d. Remember 
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4) Absolute Value Equation

a. Isolate the absolute value first.

b. Use definition to solve.

Exponential Functions:
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Logarithms:
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Read “y is the logarithm to the base b of x”


Also means “what power do I raise b to get x”


Examples:
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Properties of Logarithms:

1) 
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Remember 
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A common logarithm is a logarithm with base 10.  
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Base not shown is assumed to be 10.

Exponential Equations:


Take log of both sides and use log properties.

	Ex: 1



[image: image46.wmf]512

x

=




[image: image47.wmf]log5log12

x

=




[image: image48.wmf]log5log12

x

=




[image: image49.wmf]log5

log12

x

=



Rest is calculator
	Ex: 2
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Logarithmic Equations:

Examples:

1) 
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Use log properties on left hand side
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Change to exponential form
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Solution is 
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 because can’t take the log of a negative number.

2) 
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Use log properties on left hand side
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Change to exponential form
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 NO SOLUTION: You cannot take the log of a negative number.

3) Change of base solutions:

Example:  
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Take log or ln of both sides

	Ex: 1
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	Ex: 2
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Graphing:

1) Parabolas:
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b. y-intercept  (0, c)

c. x-intercept   
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,  solve.

d. Vertex – highest or lowest point. Will always occur at 
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2) Circles:
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,  center (a, b),  radius r
a. Distance between two points 
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3) Ellipses:
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,  ellipse centered at origin
a. Set in standard form and find intercepts 
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b. Crosses x-axis at 
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c. Crosses y-axis at 
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d. Draw curves connecting the 4 points

4) Hyperbolas:
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  or  
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     centered at origin
a. Set in standard form and find intercepts, if they exist 
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b. 
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  Crosses x-axis at 
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   Crosses y-axis at 
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d. Use b to find the 4 corners of the rectangle through which the asymptotes pass. 4 corners are 
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e. Draw asymptotes.
f. Sketch hyperbola using the intercepts and the asymptotes.
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